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Chapter 1: Why Capitalism?
Test Bank

Multiple Choice
1. What are the two main pillars of capitalism?
a. competition and ownership
b. private property and entrepreneurship
c. property rights and a free and open market
d. common good and greater prosperity
Ans: C
Learning Objective: 1.1: Discuss the broad economic ecology within which corporations and managers operate.
Cognitive Domain: Knowledge
Answer Location: What Is Capitalism?
Difficulty Level: Easy
AACSB: Financial theories, analysis, reporting, and markets
2. The right to possess is part of a bundle of rights that comprise ______.
a. ownership
b. prosperity
c. common good
d. competition
Ans: A
Learning Objective: 1.1: Discuss the broad economic ecology within which corporations and managers operate.
Cognitive Domain: Comprehension
Answer Location: Property Rights
Difficulty Level: Medium
AACSB: Financial theories, analysis, reporting, and markets
3. Sal is the sole proprietor of his pizzeria. He has full control over how to manage it, and full rights to any income generated. He can also decide to sell it. How are these controls and rights over the pizzeria classified?
a. security rights
b. private citizen rights
c. infrastructure rights
d. property rights
Ans: D
Learning Objective: 1.1: Discuss the broad economic ecology within which corporations and managers operate.
Cognitive Domain: Analysis
Answer Location: Property Rights

Difficulty Level: Hard
AACSB: Financial theories, analysis, reporting, and markets
4. What is the difference between capitalism and communism?
a. In a capitalist market, the good of production can be owned by private companies or individuals.
b. In a communist economy, so-called capital goods are owned by private companies.
c. In a communist economy, natural resources are owned by private individuals or companies.
d. In a capitalist market, natural resources are owned solely by the government.
Ans: A
Learning Objective: 1.1: Discuss the broad economic ecology within which corporations and managers operate.
Cognitive Domain: Analysis
Answer Location: Property Rights 
Difficulty Level: Hard
AACSB: Financial theories, analysis, reporting, and markets
5. Which kind of market has no restrictions on what people can own?
a. capitalist
b. communist
c. laissez-faire
d. socialism
Ans: C
Learning Objective: 1.1: Discuss the broad economic ecology within which corporations and managers operate.
Cognitive Domain: Comprehension
Answer Location: Property Rights
Difficulty Level: Medium
AACSB: Financial theories, analysis, reporting, and markets
6. An insurance company sells its policies to people who need coverage. In exchange for a premium paid by the customer, the insurer provides insurance coverage. The free choice of the two parties to engage in the exchange is an example of ______.
a. competition
b. a market
c. customer preference
d. demand
Ans: B
Learning Objective: 1.1: Discuss the broad economic ecology within which corporations and managers operate.
Cognitive Domain: Application
Answer Location: Free and Open Market
Difficulty Level: Medium
AACSB: Financial theories, analysis, reporting, and markets
7. What determines the market price and efficient quantity for every commodity in a well-functioning market?
a. supply and demand
b. invisible hand
c. natural effort
d. social good
Ans: A
Learning Objective: 1.1: Discuss the broad economic ecology within which corporations and managers operate.
Cognitive Domain: Knowledge
Answer Location: Free and Open Market
Difficulty Level: Easy
AACSB: Financial theories, analysis, reporting, and markets
8. Which is a driving force behind capitalism?
a. altruism
b. self-interest
c. generosity
d. self-sacrifice
Ans: B
Learning Objective: 1.1: Discuss the broad economic ecology within which corporations and managers operate.
Cognitive Domain: Comprehension
Answer Location: Free and Open Market
Difficulty Level: Medium
AACSB: Financial theories, analysis, reporting, and markets
9. When there are minimal entry barriers to a market and competition coordinates individual efforts, one can conclude that the market is ______.
a. failing
b. struggling
c. well-functioning
d. controlled
Ans: C
Learning Objective: 1.1: Discuss the broad economic ecology within which corporations and managers operate.
Cognitive Domain: Analysis
Answer Location: Free and Open Market
Difficulty Level: Hard
AACSB: Financial theories, analysis, reporting, and markets
10. True capitalism leverages the power of ______ to serve the diverse needs of producers and consumers.
a. investors
b. system
c. technology
d. competition
Ans: D
Learning Objective: 1.1: Discuss the broad economic ecology within which corporations and managers operate.
Cognitive Domain: Knowledge
Answer Location: Free and Open Market
Difficulty Level: Easy
AACSB: Financial theories, analysis, reporting, and markets
11. The recognition of private property rights is a common feature of all categories of ______.
a. capitalism
b. socialism
c. communism
d. primitivism
Ans: A
Learning Objective: 1.1: Discuss the broad economic ecology within which corporations and managers operate.
Cognitive Domain: Analysis
Answer Location: Archetypes of Capitalism
Difficulty Level: Hard
AACSB: Financial theories, analysis, reporting, and markets
12. A government owning a majority share of a company is an example of which type of capitalism?
a. oligarchic
b. state-guided
c. big-firm

d. entrepreneurial
Ans: B
Learning Objective: 1.1: Discuss the broad economic ecology within which corporations and managers operate.
Cognitive Domain: Application
Answer Location: Archetypes of Capitalism
Difficulty Level: Medium
AACSB: Financial theories, analysis, reporting, and markets
13. Which two types of capitalism are more prone to corruption?
a. big-firm and oligarchic
b. oligarchic and state-guided
c. entrepreneurial and big-firm
d. state-guided and entrepreneurial
Ans: B
Learning Objective: 1.1: Discuss the broad economic ecology within which corporations and managers operate.
Cognitive Domain: Application
Answer Location: Archetypes of Capitalism
Difficulty Level: Medium
AACSB: Financial theories, analysis, reporting, and markets
14. Entrepreneurs do well in the United States because the economy is a blend of ______ and ______ capitalism.

a. entrepreneurial and oligarchic

b. entrepreneurial and big-firm

c. big-firm and state-guided

d. oligarchic and big-firm

Ans: B

Learning Objective: 1.1: Discuss the broad economic ecology within which corporations and managers operate.
Cognitive Domain: Comprehension

Answer Location: Comparing the Archetypes
Difficulty Level: Medium

AACSB: Financial theories, analysis, reporting, and markets
15. Which type of capitalism is likely to take the place of socialism, despite its setbacks?
a. big-firm
b. entrepreneurial
c. state-guided
d. oligarchic
Ans: C
Learning Objective: 1.1: Discuss the broad economic ecology within which corporations and managers operate.
Cognitive Domain: Analysis
Answer Location: Comparing the Archetypes
Difficulty Level: Medium
AACSB: Financial theories, analysis, reporting, and markets
16. What is the primary criticism of capitalism?
a. self-interest and inequalities
b. high costs and wealth
c. innovation and technology
d. competition and innovation
Ans: A
Learning Objective: 1.1: Discuss the broad economic ecology within which corporations and managers operate.
Cognitive Domain: Analysis
Answer Location: Capitalism and Its Critics
Difficulty Level: Hard
AACSB: Financial theories, analysis, reporting, and markets
17. When critics talk about self-interest as a problem with capitalism, they are referring to the market’s ______.
a. ability to create equality for the sake of the common good
b. inability to create excess wealth for society as a whole
c. ability to consider social ramification for society as a whole
d. inability to moderate for the sake of common good
Ans: D
Learning Objective: 1.1: Discuss the broad economic ecology within which corporations and managers operate.
Cognitive Domain: Application
Answer Location: Capitalist Excesses
Difficulty Level: Medium
AACSB: Financial theories, analysis, reporting, and markets
18. Competition increases market pressures and, according to some critics, is the breeding ground for ______.
a. financial success
b. market liberalism
c. unethical behavior
d. managerial restraint
Ans: C
Learning Objective: 1.1: Discuss the broad economic ecology within which corporations and managers operate.
Cognitive Domain: Comprehension
Answer Location: Capitalist Excesses
Difficulty Level: Medium
AACSB: Financial theories, analysis, reporting, and markets
19. One of the criticisms of globalization’s progress is its contribution to ______.
a. income inequality
b. competition
c. communism
d. market power
Ans: A
Learning Objective: 1.1: Discuss the broad economic ecology within which corporations and managers operate.
Cognitive Domain: Comprehension
Answer Location: Capitalism and Income Inequality
Difficulty Level: Medium
AACSB: Financial theories, analysis, reporting, and markets
20. According to French economist Thomas Piketty, what is the relationship between aristocratic society and a democracy?
a. Aristocracy is the foundation of democracy.
b. Aristocracy is a threat to democracy.
c. Aristocracy is a primary value of democracy.
d. Aristocracy supports democracy’s focus on equality.
Ans: B
Learning Objective: 1.1: Discuss the broad economic ecology within which corporations and managers operate.
Cognitive Domain: Analysis
Answer Location: Capitalism and Income Inequality
Difficulty Level: Hard
AACSB: Financial theories, analysis, reporting, and markets
21. When the market fails, market transactions ______.
a. fully account for the costs and benefits received by others
b. produce highly efficient allocations of resources
c. promote social welfare for the common good
d. create an environment of perfect competition
Ans: A
Learning Objective: 1.2: Recognize capitalism’s requirement for an institutional framework and a supportive moral culture.
Cognitive Domain: Application
Answer Location: Government Institutions and Market Failures
Difficulty Level: Medium
AACSB: Financial theories, analysis, reporting, and markets
22. Which plays a key role in curtailing monopoly power?
a. entrepreneurs
b. communists
c. government agencies
d. oligopolists
Ans: C
Learning Objective: 1.2: Recognize capitalism’s requirement for an institutional framework and a supportive moral culture.

Cognitive Domain: Knowledge
Answer Location: Government Institutions and Market Failures
Difficulty Level: Easy
AACSB: Financial theories, analysis, reporting, and markets
23. Side effects of production that impose costs involuntarily on others who are powerless over the outcome are known as ______.
a. informational deficiencies
b. public goods
c. positive externalities
d. negative externalities
Ans: D
Learning Objective: 1.2: Recognize capitalism’s requirement for an institutional framework and a supportive moral culture.
Cognitive Domain: Knowledge
Answer Location: Government Institutions and Market Failures
Difficulty Level: Easy
AACSB: Financial theories, analysis, reporting, and markets
24. What is the result when market players abide by agreements and contracts?
a. competition
b. trust
c. clever deceit
d. opaque complexities
Ans: B
Learning Objective: 1.3: Explain the critical role of managers in sustaining free-market capitalism.
Cognitive Domain: Knowledge
Answer Location: Moral Culture and Modern Managers
Difficulty Level: Easy
AACSB: Financial theories, analysis, reporting, and markets
25. Equal and fair access to ______ supports a well-functioning market.
a. money
b. regulation
c. information
d. self-interest
Ans: C
Learning Objective: 1.3: Explain the critical role of managers in sustaining free-market capitalism.
Cognitive Domain: Knowledge
Answer Location: Moral Culture and Modern Managers
Difficulty Level: Easy
AACSB: Financial theories, analysis, reporting, and markets
Case 1

Bill recently lost his job and needs extra income. He has paid all of the payments and holds the title to his car, but he also lives in an urban area with a well-developed public transit system. He decides to lease the car to help supplement his income. For several months, Bill posts fliers in his neighborhood to publicize that his car is for lease. Each month, he posts a new flier that drops the price of his car slightly to attract more interest. However, no one expresses interest. He finally decides to post his most recent lease advertisement on social media. Within a few days, friends, who live in suburban areas without public transit, begin making offers on his car. The price steadily increases he accepts the highest offer, which comes from his nephew.
1. How does Bill exercise his right of ownership in this scenario?
Ans: Answers will vary but should note that because Bill has made all of the payments and holds the title of the car, he is eligible to right of ownership. Right of ownership means that Bill has the right to use the car, to manage the car, and to use the car as a source of income. This allows Bill to lease the car to his nephew for income because he has property rights.
Learning Objective: 1.1: Discuss the broad economic ecology within which corporations and managers operate.
Cognitive Domain: Analysis
Answer Location: Property Rights
Difficulty Level: Hard
AACSB: Financial theories, analysis, reporting, and markets
2. Describe the type of economic system that Bill lives within, based on the information in the scenario.
Ans: Answers will vary but should note that Bill likely lives within a capitalist economic system. In this system, the government places certain regulations on ownership, such as holding a title to his car to prove ownership. However, it also allows him rights of ownership over that car, such as choosing to lease his car for supplemental income.
Learning Objective: Discuss the broad economic ecology within which corporations and managers operate.
Cognitive Domain: Analysis
Answer Location: Property Rights
Difficulty Level: Hard
AACSB: Financial theories, analysis, reporting, and markets
3. What role does the market play in this scenario with regard to interest in leasing Bill’s car?
Ans: Answers will vary but should indicate that the market within Bill’s neighborhood is not competitive for the car. Because people have easy access to public transit in Bill’s neighborhood, there was low demand for his product. Since demand was low, he attempted to drop the price to make the offer more enticing, but it still did not yield other parties who were interested. However, once the offer was posted to a different market and reached a market where there was demand (suburban areas without reliable public transit), the price was driven up.
Learning Objective: 1.1: Discuss the broad economic ecology within which corporations and managers operate.
Cognitive Domain: Analysis
Answer Location: Property Rights
Difficulty Level: Hard
AACSB: Financial theories, analysis, reporting, and markets
4. What effects, if any, does the government have in this scenario?
Ans: Answers will vary but should reference that the state requires Bill own his car, including holding a title of ownership for the car. This is a common way that governments regulate property ownership of individuals.
Learning Objective: 1.1: Discuss the broad economic ecology within which corporations and managers operate.
Cognitive Domain: Analysis
Answer Location: Property Rights
Difficulty Level: Hard
AACSB: Financial theories, analysis, reporting, and markets
Case 2

The cost of lumber has significantly increased over the last year, and the local lumber yards are experiencing the effects. It is difficult to find lumber at affordable prices to keep their yard stocked for customers. Because supply is low, the prices are soaring. As a result, builders who need lumber to finish jobs are having a difficult time finding adequate amounts at a price they can afford. Lou’s Lumber Yard found a supplier who can deliver what he needs at a price he can afford. Lou buys as much lumber as he can afford from the supplier to sell to contractors.
1. Why is Lou buying as much lumber as possible from the supplier?
Ans: Answers will vary but should reference that the market is sending a signal that the demand for lumber is high.
Learning Objective: 1.1: Discuss the broad economic ecology within which corporations and managers operate.
Cognitive Domain: Analysis

Answer Location: Free and Open Market
Difficulty Level: Hard

AACSB: Financial theories, analysis, reporting, and markets

2. Why is Lou able to sell the lumber to contractors at an increased price?
Ans: Answers will vary but should capture that since the overall supply of lumber in the market is low, Lou is able to raise the price on the supply he bought because the demand is high. The contractors place a high value on the lumber and are forced to pay the higher price to finish their projects.

Learning Objective: 1.1: Discuss the broad economic ecology within which corporations and managers operate.
Cognitive Domain: Analysis

Answer Location: Free and Open Market
Difficulty Level: Hard

AACSB: Financial theories, analysis, reporting, and markets

3. What should Lou consider when determining how much to charge contractors?
Ans: Answers will vary but should outline the importance of ethics in a free and open market. Because Lou has effectively cornered the market on lumber, it would be easy for him to mark the price for his lumber up high to return a very large profit; however, doing so may have wider social implications. For example, by overcharging builders, builders may not be able to cover their labor costs, so they may have to fire or lay off some of their employees and cause other social problems in the economic ecosystem where he does business.
Learning Objective: 1.1: Discuss the broad economic ecology within which corporations and managers operate.
Cognitive Domain: Analysis
Answer Location: Free and Open Market
Difficulty Level: Hard
AACSB: Financial theories, analysis, reporting, and markets
4. What advice would you give Lou when he is determining how to price his lumber to contractors? Support your answer with information from the text.
Ans: Answers will vary but should include a discussion of how different price fluctuations will affect both his own profits as well as the profits of builders he works with. Discussions may also note specific examples about the effects of marking prices of his lumber up or down in addition to what he can do as a business owner to contribute to a health free and open market.
Learning Objective: 1.1: Discuss the broad economic ecology within which corporations and managers operate.
Cognitive Domain: Application
Answer Location: Free and Open Market
Difficulty Level: Medium
AACSB: Financial theories, analysis, reporting, and markets
Case 3

A student of business ethics argues that capitalism in a free-market economy is impersonal and morally indifferent to everything but the end result. The student gives the example of a well-known land developer who buys property that includes low-income housing and displaces families who cannot afford to move. The developer wants to improve the local economy by turning the property into condominiums and upscale shops. He stands to make a lot of money, and the community looks forward to a growing economy as a result. However, the student points out the end result is at the cost of the displaced families who are struggling to make ends meet.
1. Using details in this scenario, explain why a critic of capitalism, such as this student, may believe that capitalism is blind to social and moral considerations.
Ans: Answers will vary but should capture that a critic may state that the free market allows the land developer to be solely focused on how to meet his objectives in the most efficient way possible to make the most profits possible without regard for the people who are losing their homes. A critic believes this is a grave defect of the capitalist model.
Learning Objective: 1.1: Discuss the broad economic ecology within which corporations and managers operate.
Cognitive Domain: Analysis
Answer Location: Capitalist Excesses
Difficulty Level: Hard
AACSB: Financial theories, analysis, reporting, and markets
2. When the student in the scenario refers to the immorality of capitalism, the student discusses the system’s inability to moderate itself. What evidence can you find from the example of the land developer to support the student’s claim?
Ans: Answers will vary but should capture that the market is willing to forsake the welfare of the families being displaced to accumulate wealth. A critic would say there is more concern for the accumulation of wealth than the resulting inequalities affecting society.
Learning Objective: 1.1: Discuss the broad economic ecology within which corporations and managers operate.
Cognitive Domain: Analysis
Answer Location: Capitalist Excesses
Difficulty Level: Hard
AACSB: Financial theories, analysis, reporting, and markets
3. The student in the scenario adds to the example of the land developer stating that to meet deadlines the developer bribed inspectors. What do you think is the student’s concern about the developer bribing inspectors?
Ans: Answers will vary but should point out that capitalism can create fierce competition. When deadlines are not met, the developer stands to lose money. The pressures of competition can cause people to behave unethically to preserve their market position.
Learning Objective: 1.1: Discuss the broad economic ecology within which corporations and managers operate.
Cognitive Domain: Analysis
Answer Location: Capitalist Excesses
Difficulty Level: Hard
AACSB: Financial theories, analysis, reporting, and markets
4. The student further adds that in the end, the development of condominiums and upscale shops will affect small local business owners and destroy the community. Explain what the student means.
Ans: Answers will vary but should follow the thinking that as a critic of capitalism, the student is saying that capitalist achievements are not conducive to producing large social benefits. By allowing the developer to move in, he accumulates wealth by destroying small businesses and eventually dissipating the community that once existed. Small businesses will be forced to close their doors because they cannot compete with the upscale shops frequented by those living in the condominiums. Regular customers that once lived in the low-income housing and supported the local small businesses are forced to move away, and the community that once existed is no longer viable.
Learning Objective: 1.1: Discuss the broad economic ecology within which corporations and managers operate.
Cognitive Domain: Analysis
Answer Location: Capitalist Excesses
Difficulty Level: Hard
AACSB: Financial theories, analysis, reporting, and markets
Case 4

The CEO of a company is feeling pressured to compromise her integrity and make decisions that are unethical. Her board of directors have pressured her to seek out smaller, similar companies and buy them. In doing this, the board hopes to own a majority of the market and will, therefore, be able to control prices in certain regions to maximize profits. She knows that technically what the board is asking her to do is legal, but she worries about the social impact such a move might make, especially since many of the businesses they want her to acquire are small, family owned-and-operated businesses. Her board cites that their larger competitors have been taking similar actions in other markets and have found legal loopholes to do so, but she cringes at the thought of carrying out this plan of action.
1. How does a strong and unbiased legal framework help promote a high-functioning free-market system and support this CEO’s ethical decision making?
Ans: Answers will vary but should reference that a strong and unbiased legal system ensures the protection of property rights, the enforcement of contracts, and the prevention of third-party interference with market exchanges between a buyer and a seller. These supports should help maintain a playing field for business that is transparent, fair, and free from corruption.
Learning Objective: 1.2: Recognize capitalism’s requirement for an institutional framework and a supportive moral culture.
Cognitive Domain: Application
Answer Location: Government Institutions and Market Failures
Difficulty Level: Medium
AACSB: Financial theories, analysis, reporting, and markets
2. What institutional support seems to be weak in this scenario? What implication is it having?
Ans: Answers will vary but should suggest that when institutional support is weak, authentic free-market capitalism is unsustainable. In this scenario, legal structures seem to be weak, since other companies seem to be able to skirt around the law and/or laws of majority ownership are not being enforced.
Learning Objective: 1.2: Recognize capitalism’s requirement for an institutional framework and a supportive moral culture.
Cognitive Domain: Application
Answer Location: Government Institutions and Market Failures
Difficulty Level: Medium
AACSB: Financial theories, analysis, reporting, and markets
3. In this scenario, the CEO is worried about an unfair playing field for conducting business. How do laws prohibiting bribery and corruption support a healthy capitalist market for the CEO’s business?
Ans: Answers will vary but should reflect that when laws forbidding bribery and corruption are in place, are clear, and are enforced, the institutional foundation is strong. In this case, the law will help maintain the success of capitalism by ensuring the value of fair play.
Learning Objective: 1.2: Recognize capitalism’s requirement for an institutional framework and a supportive moral culture.
Cognitive Domain: Application
Answer Location: Government Institutions and Market Failures
Difficulty Level: Medium
AACSB: Financial theories, analysis, reporting, and markets
4. The CEO is concerned that by her competitors operating in less than fair ways, competition in the market will be limited. What are the results of limited competition in a market that concern ethical CEOs?
Ans: Answers will vary but should include a statement about markets failing when they are dominated by one seller or a few sellers who limit competition. Limited competition leads to waste and economic inefficiency. Companies will underproduce, charge higher prices, and reap monopoly rents. Without competition there are fewer incentives for innovations and no pressure to lower prices.
Learning Objective: 1.2: Recognize capitalism’s requirement for an institutional framework and a supportive moral culture.
Cognitive Domain: Analysis
Answer Location: Government Institutions and Market Failures
Difficulty Level: Hard
AACSB: Financial theories, analysis, reporting, and markets
Case 5

A large clothing manufacturer decides to make information about its operations and supply chain transparent. The company views this as a way to take responsibility for preventing any harm that may occur socially or environmentally as a result of production. The company believes that corporate responsible behavior will lead to trust and to their long-term success in the market.
1. What does this company understand about self-moderation as reflected by its desire to behave responsibly, be transparent, and build trust in the market?
Ans: Answers will vary but should stress that when a company is transparent and concerned about building trust in the market, it understands that exercising self-moderation to conduct business in moral and ethical ways leads to far more long-term success than a preoccupation with efficiency and opportunism.
Learning Objective: 1.3: Explain the critical role of managers in sustaining free-market capitalism.
Cognitive Domain: Analysis
Answer Location: Moral Culture and Modern Managers
Difficulty Level: Hard
AACSB: Financial theories, analysis, reporting, and markets
2. How do cultural institutions influence companies such as the clothing manufacturer in this scenario?
Ans: Answers will vary but should suggest that cultural institutions such as church, family, and education are responsible for developing virtuous habits and correcting human vice. The market will reflect the well-formed habits of its surrounding culture.
Learning Objective: 1.3: Explain the critical role of managers in sustaining free-market capitalism.
Cognitive Domain: Application
Answer Location: Moral Culture and Modern Managers
Difficulty Level: Medium
AACSB: Financial theories, analysis, reporting, and markets
3. In such a moral environment, managers at the clothing manufacturer are attuned to the need for virtues such as honesty and fairness. Why is it important for them to be so attuned to these virtues?
Ans: Answers will vary; however, students should point out that being highly attuned to virtues, such as honesty and fairness, offsets and mitigates the impulse of self-interest that drives capitalism.
Learning Objective: 1.3: Explain the critical role of managers in sustaining free-market capitalism.
Cognitive Domain: Analysis
Answer Location: Moral Culture and Modern Managers
Difficulty Level: Hard
AACSB: Financial theories, analysis, reporting, and markets
4. How does a weak moral culture affect managers’ decision making?

Ans: Answers will vary but should reflect that managers in a weak moral culture will have a hampered ability to make sound moral decisions, thus disrupting the integrity of the market.
Learning Objective: 1.3: Explain the critical role of managers in sustaining free-market capitalism.
Cognitive Domain: Application
Answer Location: Moral Culture and Modern Managers
Difficulty Level: Medium
AACSB: Financial theories, analysis, reporting, and markets
